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Central Government and a decision will be 

taken shortly. 

Measures   to   Prevent   Air   Collision  in 

Nagapur 

1374. SHRI RAM NATH KOVIND:                  
SHRI      RAJNATH      SINGH 

'SURYA':                                    

DR. RANBIR SINGH: 

Will the Minister of CIVIL AVIATION be 

pleased to state: 

(a) whether it is a fact that possibility of 

air collision of aircraft was witnessed in 

Nagpur, recently; 

(b) if so, the details thereof; and 

(c) what preventive measures have been 

taken or proposed to be taken in this regard? 

THE MINISTER OF CIVIL 

AVIATION (SHRI ANANTH 

KUMAR): (a) and (b) An air proximity 

incident was reported between Jet Airways 

flight and Thai Airways flight over Nagpur 

on 11th April, 1998. The Jet Airways flight 

from Bangalore to Delhi sighted another 

traffic (Thai Airways flight) at the same flight 

level crossing at about 13 nautical miles. 

(c) The following preventive measures 
have been taken: 

(1) Airport Authority of India have, de-

rostered the involved Area Control Centre 

Controller and Radar Controller. 

(2) DGCA have issued instructions for 
mandatory installation of Airborne 
Collision Avoidance System (ACAS) and 
Mode 'S' transponder. The DGCA have 
also advised AAI to take the following 
measures: 

(i) Air Traffic Controllers should 
strictly follow the laid down ATC 
procedures and instructions. 

(ii) Standard phraseology should be 

used while giving instructions to 

aircraft. 

(iii) frequent proficiency monitoring    

of    ATC    staff    in 

association     with     the     DGCA 
Officers should be carried out. 

(iv) Proper maintenance of 
navigational communication and 
landing facilities should be ensured. 
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